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RE
1552 g(l)EﬁS H':J w éD$ 16384) HCOlL% THEN

NEXT = FOR K =

1
RN
0

/

i 9;&5?:* 6 Y

§Q Ret it

75 + K1

Rt 7,
i $$Eﬁ%§_m g

kR
}

XY-8TOX+7"Y
8500 XVT CZAS GOSLfE% 0900 1’I-IPLOT



10

20
25
26
30

32
36

i

42
44

o

5

o

OO0
OO0

62
63

45 AS
47 PRI
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MATH.PARTS-11I
%EA&? HCOLOR: 3. PRINT  CHR$

1: PRINT ' 3. Mw*dzz
PRINT o, XODQLIGb{ y 3 - X

PRYNT 8,20
OIQ Z0|Z><3|S]y i%hé& lg”%yQ
PR NT §_§ dwM[g ;g [i ]tzZQJ
PR T 33Pt%g g.(;) igb{ y -
0, 94
EE ftZZ WMi(?Qﬁ 311741
VTAB 8: HTAB 6. PRINT "iOzg;V
PRINT - iYvad >-4 |, Yh -
" &(%DE) és&gxg <N
Wxgvt 0 5o %&W
=1
S(})[T 5 %&S?B' @8 A

GO§UB
83 10 180,183
go]()|Qva((i??(@g f(>:) =3
) IR T— f(4) ..
PRINT T

——d

i

H
G
PRI

%7 obald 1bdoo A8 W?T
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" A$193 HT = 11 V?_OSUB 10?_|Q|_0

UB 10000;A3 - "2° VT =
29 GOSUB, 10000
52 T? 110 152: HPLOT

15
ﬁ 7 dw [|S]t
(BAQ t% |§yQ GWOsgij

b BB prli e ™00 i A] Z=xgM

84 G&)SUB 750%3* ﬂé% gL ]"% THEM

0 PG  Sha T 618 14

101 HPLO'II \(/)Z%§@TO 2?. ?: PIéZINT %

105 PRIN f(x- |) 3

108 PRINT LW’)(;@
X $ _3
= Pﬁ Dok iM iy f

TR AT
X iYvzd h _>(5

21<tZQ h->0_j
Ho P$dNL{g£vwi9rYz}r8{10Q ZE L-(>

é é f L §HT
ﬁ E 5%00?)\ UB ;ogooW
Pl

I Al 1o 19

N
rO:'

117 $—
lie %:
i



130 CD$ ER;',R;HE’\CIO%E 7500: IF COT

135 PRINT :<PRINT ! iAJ%cxfide
140 §§UB 7500: IF (x)§  "p" THEN
200 REM |

<{dot-3 4
210 CLEAR : PRINT CHR$ (15): HO

212 }j/T,)A(\B S: PRINT S Zf0 i

: Sgkégﬂ %Q tyj X J I
215 PR Ww?.-B2Q ¥ T(x)
218 )

220

tC.qu%ﬂ,Yoa fL K
iICii A$ =

900 A$__: R ggg 3

=
‘EE"D'.,:
=S
ro
25-<
<*-=_F
kD F_§<o
wn
=
—<{
=0
23
A

2 Tg“ fZ|Yv %%QQ;QQQE(%
CD%J’JS CH é:ﬁB COLO
1+ *d 20 YOtz
tzan74 gtY$V SITf 313JVZ(fQO 3
B ooy
L t 1

315 R‘N ¢ |Yva

“ R ol Bb>es 07OM

259
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2 o - R GOSUB 7500
330 PRINT © PRINT " jAJZ=xgMdR<C

340 GOSUB 7500: IF ¢m - "R" THEN

400 CLEAR PRINT CHR$ (16): HCOLOR--
3. VTAB% IELNT
~SW

405  PRINI
418 R nR§K<d’>Qx{gYwQ

SRe,
B o

415 PRINT " igQBs"? 4 Xu? 6 QgOt

420 CD§ = "R" _GOSUB 7500
%8 PéINT . PRINT " |AJZ=xgMdR<{

435 GOSUB 7500: IF QOf - “"R" THEM
508 Wﬁ% %: HTABTl PRINT
10+ 2x $ 07bgde2[g g[|

520 cZgQ JRR5T EosuB 7500
BRINT ~ BRINT » . iA]Z=.xg MdR<{

540 GOSUB 7500: IF 00§  "R" THEN

600 PRINTI [&H?t 7 %(G%)R \/géB?ﬁi3 PJ?INT

HTA PRINT. *{, Z-
>>/TrYZ|<{g|Tq <§ 3uRi T i [tZQW

620 FTABE"? 9, |OLt
630 if %M\ Q”%Eﬁ q J
'9 FTA 1ORPI§]NT{ i

cfS yr

IFO 630 .
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=
% = Ll
— I
= E. 2 =z &
XI o = €I T
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< T LY
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= (o' o'
RE L. "gTg
W W:DH = = e 'L T Lo —
LEx S wn o
= =< — oO— OF—
g L~ - : - O o
T T <= . oM™ Lo
=R gFe= S — .
- I WAIH O 00.. .... ~—
= = LOLO LOI
— = .D.n_/../___/ww
"='e e Seacor?
—re—io = - S s

= LLI
<Co < Tm - XX O OND
OO<C <t =000
o
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OO OO OO
LO O OO0« Ao <o
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© O© r~r-T- r~—~r- nr~—r—

635
6.40
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10 REM .
HATH.p ART6
20 PRINT  CHR$ (18) VTAB 1 PRINT
| [“ROT3 0 qwH[g; et i>

Jt22Q] ) 1
30 FOR K —.1 T0 2000: NEXT  HCQLQR:
80 PRINT : PRINT " Qs ZgY ' N {

f(x) |§gQW 7. ~BwQigqLk i.Yvad=

39<d7 IS]t7ZQ| I'S1SyQ x+h i

pLzOta, h-0 ? lljtzZQO

g, f (&) ir GiSyQ f( &+h :
8 5 PRIMT " [ M[g g[| 3tZZQJ ]?i

ts/Z R < 1 np

@} 7 X M x+h vd POR '\ﬁ'

90 PRINT * dwMlg gri = LszQj 37
<cl* oy xgogf-z SWR X yt — T.& iCl

I =vd": PRINT
91 CALC - 998
92 PRINT " jYvsd h

. 0
93 PRINT :A$ : "f(v+#h)- f(y)" vT
© 6:HT = ): GGSUB 850

0
94 A$ * "f(vahd- F(x)":VT 9. 2:H
T @9 up. ~ 500
100 GD$ 'R": GOSHB 7500
410 PORE 33,40 P0§E 32,0 FORF
34.0: HCOLOR Pok™ 1048

42(1 ROT: 0: SCALE- 9
430 A$ - "2 VsOg-[Kg='gyd YVwQP- [«
7/v{QO0tza Y1 3+ XZY"
440 PRINT CHP$ (16
450 'ITAB 1: PRINT cHE®™ (9):
A$ ;"
430 A$ = "L(gQiOsg 4+ "gYZg <dYLC

470 VTAP 2: PRINT CUE%(Q];"

" A$; SPC( 14); OHR3 (14)
PRINT " 1gb{ Y if VvIQOr. ..«
d?[ rigYibitaZ YL{gQiOzgOt3Yt
- gY Zg- X bQ z ofP-CCfi%ay;
gljaL? :"g'YavYVwQP~ Cfb

480



490

50
510
520
530
540

o

550 .

560
570

680
590
600

6.10
620
630
640
650
660
670
680
690

700

710
720
730

«

07L{gQ ;wR Vv{QOts<d7agYib]

HPLO »

WI Aﬁcﬁ? 17&') XmAT 70,8
W ASC ("B") - 3L AT 15,1
W ASC ( ") .31 AT 124,
W ASC ("D") - 31 AT 71,1

Yo At e 41 YA

X :,42:Y - 181: GOSUB 9030
HPLOT 38,182 .TO 21,182 TO 24

179 TO 21,182 TO 24,185: HPLOT
0,182 TO 60; 182 TO 68,179 TO

p 170 TO to
167 TO 12,170 TO 16,169
HPLOT 42,122 TO 63,90 TO 59,
91 TO 63,90 TO 65,94
AT "ww{QOt2<d?agY, Jt,ZYL{g

VTABg8~HTAB 16: PRINT AT
AT - «a= _BC. AP
HTAB 26 PRINT AT
X = 185:Y = 137: GOSUB 9010
AT = w=  (X) CAD}
HTAB 26: PRINT A$
X 185:Y r 137: GOSUB 9030
X = 185:Y = 154: GOSUB 9010
VT = 12.5:HT = 30: GOSUB 7500
POKE 34,2: VTAB 12 PRINT
. PRINT PRINT " VTAB 10
PRINT "AU iSyQaz"Qa ?<d?agYi
bJtsZyY Cuﬂ]ng@g, A YgMw{?
Ag:;wR BC Ota D"
FOR K : 1 TO 1000: NEXT
PRINT " Lw?Qw{Q BD Ik

X 8§1:Y I 132: GOSUB 9010: PRINT

,"BC VTAB 1: DRAW ASC (

STRRI AT

265



740
750

760

770
780

790
800

810
820

830
840
850

860

870
880

890
900

910
920

930

940
950
960

264

"X") - 31 AT 123,181
X = 123: GOSUB 9030
- 12.5:Hl - 30: GosuB 7500
HCOLOR- 0
FOR K = 60 TO 150: IF K < 85
THEN HPLOT 100,K TO 279,K
HPLOT 140, K TO 279 ,K
NEXT VTAB 10: HTAB 1: FRINT

VTAB 4: HTAB 22: PRINT "@g;
HCOLOR- 3: HPLOT .170,60 TO 1

80,60 TO 178,55 TO 170,60
PRINT "YnYAg, ABB"

HTAB 22: PRINT "AD DRAW
ASC ("2") - 31 AT 161,68
PRINT "— AB - DRAW  ASC

("2") - 31 AT 195,68
PRINT "Bp" DRAW ABC ("2")

HTAB125: PRINT "= X X DRAW

ASC ("2") - 31 AT 189,85 DRAW
ASC ("2") - 31 AT 216,05

DRAW ABC ("4") 31 AT 209,
103: HPLOT 209, 95 T0 216,95

HTAB 22: PRINT "AD X"
DRAW ASC ("3") - 31 AT 182,
105: HPLOT 179,107 TO 189, 10
7. DRAW ASC (“2") =S ERAT 1

HPLOT 17.5,1.00 TO 177,104 TO
181,97 TO 187,97

. i 1174 0
198

X = = 152: GOSUB 9010
PRINT " X( X)":X = 200,
152: GOSUB 9030: DRAW ASC (

22 ,142 TO0 235,142+« SPEED-- 2
HTAB 21: PRINT "OfirL{ Y : f

X *§§§:Y = 152: GOSUB 9010 X
, . GOSUB 9030

CO = "R": GOSUB 7500: IF CO$
= "R" THEN 410
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970 PRINT : PRINT =ttgMdR<{dOt
980 A$ = "3":VT ~ J3UHT =", . 05
GOSUB 10000, - "4"VvT =1

2.1:HT = 22.5: GOSUB 10000

9SO HPLOT 145,166 TO 147,169 TO
149,160 TO 158,160

1000 HPLOT 149,171 TO 157,171

1010 GOSUB 7500: IF cos = "R, THEN

2000 REM
<{d 2-2

2010 CLEAR POKE 33,40: POKE 34
0. DIM AS(14)

2020 A${l) - dwM[g;g[i jtazQjS]?
IAJtsZ<d?VV{QOt <d?agYib]t Z

2030 A$(2) = "L(gQiOsg i.Yvsc!L{gQi '
1t2Z2QQyqg; Zg" x iSyQ x+h bQa

2040 AS(3) = " f(x+h)-f (x)"
2050 AS$(4) "iQvr.d?@q-; oy - f(x)
2060 AS(5)y~ "@firL{ T(x+h)
2070 AS$(es) - - foevah ) - f (X)) r
(x+h.) - \x"
2080 AS$(7)
2090 AS$(8)
(x+h+X)(X+h-X)"
2100 AS(9) "
2110 A$(10))
- (2x+h)h"
2120 ASCII) = *
(2x+h)"
2130 AS$(12) = "Lw?Qw{Q dwM[g;g[i
JtsZQjS] ?2iA]tzZ<d?Vv{QOt agy
2140 AS$(13) = "L{gQiOsg iYvsdiS]t
SZQjS]?7@ ¢g;x 1SyQ x+h hQ:
2150 AS(L4) = “T0SEIWR o

2160 PRINTACHR!Z(16) :%TAJ3 2 HCOLOR
2170 HTAB 3: PRINT A f j PRIMT
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2180 Ag EmN DQ%
2190 BRINT A3 Bodl Ao C' h
?/T - Té\:é vﬁiOSU? Eﬁwo yTAB

a0 wéfée s

2\67 o5 Lo

0 e Al 13%R|WWH%

2210 [RAW 167 AT 150,176 [RAWIL

2260 6'OPOR\I\H1 Nsc)® pRIG prINT

A3
2290 DRAW ASC (“h") - 31 AT 56,

66 VT = 10: HT = 2'L: GOSUB 84

00 VT : 12: GOSUB 8400
2300 VTAB 4: HTAB 16: PRINT "% GOSUB

7500

2310 VTAB 5 HTAB 16: PRINT "% VTAB
70 PRINIT A3(10): Ip.INT : PRINT
A3(11)

2320 VT 7: HT = 21: GC. UB 8400 :V
T = 9: GOSUB 8400: A$ = .fix
th) - f(V)":VT - 700 . GOSUB
8500

2330 GOSUB 7500: VTAB @ PEINT "

2340 FOR K : 12. TO 14: PRINT A3 (
K): NEXT

2350 CD3 : "R": GOSUB )00 IF CO
3 = "R" THEN 2000

2360 PRINT : PRINT LOHIR< {d o 1

2370 A3*= "3/dee VT = 11.4: HT G *22
2380 £y & ?st 2 : GOSUB 800
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2390 GOSUB 7500: IF CO$ = "R" THEN
2000

2400 VTAB 1: PRINT PRINT CHET
(4) ;"RUM MATH.PARTG6- 111

7000 END

7500 POKE -

7510 HOOLCR-
GOSUB 75

16368,0:008 =
3:
8
7520 GOSUB 757
0
8

IF CD$ = "R" THEN
0: GOTO 7530
0

7530 HCOLOR- IF CD$ - "R" THEN

GOSUB 7580: GOTO 7550
7550 |  pee' - «27%) = IPS THEM
CQ$ - "R" CD$ -  : HCOLOR:
3: RETURN
7552 PEEK ( - 16384) r 160 THEN

GD$ - "" HCOLOR--.
RETURN

7510 %%" 75% E TO?E% HRLOT,

I i E%
50 ; @“ %75 T(2)6
8300 }ﬁ%% %xsus oo I-[H_EN
8310 %4; OBSH¥I @ eﬁ;@

.2 THEN

8320
8350 B$ ©A$AS LEFTS (B$.1):
ANVARA T GOSUB 10000 A$
RIGHTS (BS$, 1):VT - VT + .6
GOSUB 10000 HPLOT X1Y - 8
X + 7.Y - 8 RETURN
8400 X - (HT . 1) & T:Y - VT * 1§

v

T0

8420 DRAW ASC ("3") - 31 AT X,Y
. DRAW ASC ("4 - 31 AT X
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Y+ 9 HLOTX- 1Y +2T0
6430 Jdraw’166 AT X - 5,Y: RETURN
VIL VT - .20 GOS 3 10000: HPLOT

( I 1 P v ]
VT4+ 2: RETURN
8600 VT = VT - .2 GOSUB 10000 :AT

HT WSUbJ oWO: HPLOT x 1

6 \Y TO X - 3,¥ -'3 to'x -
6, Y - 6:VT = VT = .4:HT = HT
1: RETURN
8700 A$ = " h  0": GOSUB 10000: HPLOT
X - 200Y - 370 X, 3, Y - 370
X - 6,YTOX-3Y-3T0X-
6.Y - 6: RETURN
8900 X = HT * 7 - 5:Y = VT * 15 -
4: HPLOT AY TO X + 2. Y + 2 70
X+ 4 Y - 770 X + 11 Y - T:
PTITTIPM

9000 END
9020 DRAW 1ASC ri™) - 31 AT XY

9030 DRAW ASC ("2") - 31 AT X,Y
+ 0 HPLOT X,Y + 1 TO X + 6
Y + 1. RETURN
9040 REM DY/DX
9050 DRAW ABC ("d") - 31 AT XY
DRAW ASC ("y") - 31 AT X +

9060 °DRAW ASC ("d") - 31 AT X,Y
+ 10 DRAW ASC ("x") - 31 AT
X + G,Y + 10: HPLOT X,Y + 3 T0

X + 10,Y + 3: RETURN

10000 X = (HT - 2) = 7:Y m VT = 1
5. POKE 233,48 ROT= 0

10010 FOR K 1 TO LE» (A$):N
ASC ( MIDT (AS$,K,1)): IF N -
5 THEN GOSUB 10090: GOTO 10
080
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0020 IF "™P v 1 AMD H - =2 [HEM
Y'n <+ 7: GOTO 10060

10030 N¥ = 1 - INT I 109) *
TN : N - 31 *+ 69 V éi

10040 IF ST -1 AMD B V 1950 AMD
iE -1 THEM DRAW N AT K « N
M7 Y + 20LE r 0 170TO 100

10050 IF X+ Ng * 7 v o75 THEM X

7:Y - Y + 15
10060 DRAW 1 AT X + m * [2Y:X ®
x * N% *
10070 IF = "z (N > 102 AMD

10060 STW w’R'}'F 3T © THESL

10100 RETURN
]
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HATH.PARTG6 - I

10 REM
<{d0t-3 2

12. CLEAR : POKE 33,40: POKE 34,0
. DIM A$(17)

14 PRINT CHR$ (16)

16 A$ (1) = "o [5YgK<cl?ag] Q ;[wYigq
QQx{gZgBQsLbQus? j.Yvsdi*]gTs

18 A$(2) = "irS t QgOtiCyQHSMgY
aY;g[ Q = CR-;M[ g

20 A$(3) 13HsZQJC]7< rag[Qw{Q
iqQvKf t - 3 QgOtiSyQiOagiql

22 A$(4) = AsPtOxg"

24 (5) = "icip{f Q = f(t) =4

26 A$(6) = "dwH[g;g[iSJIt zQj 17 <d
2a9[iqQ<'Kfl~]g t QgObigLk"

28 A$(7y =1" . I-

30 A 8) = "iVCef>E f(t

32 $ 3% ”éf%i{> f(§+L) B

34 ASMO) of(tHh) - f(t) =

36 ASCII)

38 A$(12) o w f(t+h) -f(t) =

50 AS(13) =

42 AS(14) =" dwM[g;g[. 1t ZQj %]
44 gDy T e
6 Asie) = e o

48 AS (17" "-"L ?QMIQ'dw{[g;g[i 1t

22QJ ]?<d?ag[igQ<Kf t - 3 Q

50 VTAB 1' PRINT " 3. Hw~dZsg

52 FOR K 1 TO 2. VTAB K + 1: PRTM



54
56

57

02
63

G5

66

67
70

15
76

78

79
82
83
84
8
100

105
110

112

211

PMNTM®y VTAB 5: PRINT AS
HCOLOR- 3: HPLOT 0,78 TO 27,7
VT 3:HT =128: GOSUB 8800
VTAB 6: HTAB 5: PRINT A$(5)Z PRINT
A$(6)ZVT - 6:HT - 20 GOSHB
8800
V%@& ii PRINT A$( VTAB 9: PRINT
RJNT <),
pgs ?ft? B:HT
10 GOSUB 850 = GDS uUB

e U - 0y S“:Bﬁ?‘O%O“stB
PO VT L 105 HT = )

A
5. GOSUB 10000
HPLOT 100,166 TO 140,156

GQSUR 7500: 34,1: VTAB 1
P?Z]N?Rij\ﬁ- f(twirﬁ-ﬁ) TN

FOR k - F TO 3. PRINT
. NEXT
PRINT " dwM([g;g[iS]tsZQ] [?<d
7ag[|qQ<KfX|*g t i
.......... z . Vvsu h -
PRINT " i
PRINT 1SvQv-10Q dv7M[g gf 1 Jta
ZQjS]?<d?ag][. qQ<K t &
PRINT “QgOt ..............................
c[wY/ QgOt
PRINT T e
Cfwyl Qth
A$ - "f(t h)y - f(t)" VT 4:
HT - 4. GOSUB 8500
CD$ - "R": GOSUB 7500: IF COT
= "R” THEN 10
POKE 34,0:.PRINT cHRS$ (16)
VTAB 1. PR NT ” =xgMdR<{dOtz-
A$- -yt + h) + 1" VT - 1.8:H
T 15:
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GOSUB 10000

116 A$= "16 16" VI . 2.6:H
T= 14: GOSUB 10000 A$ - "+.+
h+1 t+1" . VT - 3.2: HT 13
GOSUB 10000
118 AS- -16h" VT = 4: HT 17: GOSUB
10000:AS ~ "(t4h+1}(t*1}" VT
4.6: HT : 14: GOSUB 10000
120 AS = -16h":VT = 5.4: HT 17:
1 GOSUB 10000 :A$ : "(t+h+1)(t
+1)h" VT 6:HT - 13: GOSUB
0000 , .,
122 10" VT w6 8 HT - 17 GOSH
Witk e i }o 8”
124 A? - M- GCBInB
0. { 000
126 GO&% GCBlJB
\/EOO c
1 5,4 i‘?o 20, 40 HPll_OT
130,40 TO 135,40 UPLOT 143
40 TO 170,40
130  HPLOT 86,61 0 170,61: HPLOT
88,84 TO 170, 84
132 HPLOT 8¢, 106 TO 170 1106: HPLOT
98,129 TO 17071205 HPLOT. 98,
151 TO 165,151
135 VTAB 1 . HTAB 18: PRIUT -
200 GOSUB 7500.: TE COS "R" THEM
10
500 REM
yldot 4
502 CLEAR POKF 33140 : POKE 34,
. DIM AS(10): HCOLOR= 3
504 AS(1) 07bg'dvi-i[ ;@i Sit.~
ZQfS 7Cr||7s sYgM[<d77rz.
506 AS(2) : ":IYIOtZR:wR[ _Yt 'd?H
gQinsds,HQ 72701z
508 AS(3) '|dsg’t X.g gt{ v 13y
S[ YgM[<d? :[+Z JY"
510 A%(éli)%gl [ |quX| Q0
YU<d?:['22 1Y Jjji d iSy
512 A%% - Eaz.é st tQZ
514 AUL 8ganML [sY"[Cd7,[i



56 A7) " Vrfe9ds d

518 ASC8) "7 Blt, :Z ]7¢
g <\Kf [g( %([I 3g1i. qL?<]“

b &

51 A1) :E"E{ AV/ 029 (@ grmm—"

526 A$(12) : " fFOX+h ]
528 A (13) . "f(v+th)-f(v)=___
530 A$(14].

532 A§(15) "LiW?2Qw{Q dvMT[g; gUS]
t ZQJ ]?2<d? t5YgM[<d?; [ Z ]
<Kf[ _Yt<d?HgQ2g- X st

534 A$(16) "

1YVrd h — >0"
5 36 AS$(17) ',
........ iYvzd h --->0"
533 AS§(18) =P/ L W S

540 POKE 34,0: POKE 33.40: PRINT
OHP$ 16 yTAB 1: PRINT "

542 FOR K+ 1. HIAB
i Egbﬁ aﬁN —
547 A Tt () T VT

10 2 HT GOSUB |500

548 AT - "1 VT - 7 1-HT : 1.6+

10000 AT = 123" VT 8.'1:HT =
- GOSUB 10000 HPL()T 108
99 TO 115, 12:9

549 HPLOT 120,125 TO 121,119 HPLOT
123.119 TO 122, 125 HPLOT 11
§ 121 : HPLOT 119,120 : HPLOT
120.119 TO 125,119

550 GOSUB 7500: POKE 34,2: PRINT

570 FQR = 11 TO 18: PRINT A$(K
] M§Y i

5T4 AS"= " VT - 0
HT 12: GOSUB 3500

275



214

518 CPS ;, RTEEﬁfﬁv 7500 IF cos
E@? BRWETSL]. - XgMcIR.<{dOt3

X H
X dX 3 d (
Yy o+ o) d(x 4 h) §$ - rix
3 d(%%z¥ + h)hd Cd(2x f o)
584 3" U L UTHT L 160 o
Il

8350 VT - 11 cosug P
585 ro 10:vT - :
%ZRG%SUB %%SBB § bTHt g/
3 B3 5 860
587 as - CHRS (5) + CHRS (e4) +
CHRS () 7TAB 5: HTAB 17  PRINT
A3: VTAB 6: HTAB 12: PRINT A
. VTAB 7@ HTAB 23: PRINT A3
589 FOR { VTAB K: HTAB
0 Pgl -50 ‘EX

599 gOSUB 7500 |F COS "R" THEM

R o e

g '7580: S0t 7230
il 8§ S e e
8 i
(3:. 3RET5RE-(:D3 16384 Cll_%) THEN
7552 %bg%;’lﬁéﬁém 16384) HCOE8%= THEN
R R El%ag TO 275: HPLQT K
o 52 Pl o5 kit f
P(TO 21 +%191 - K>.’&l T
RETURN
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HATH .PAPTT.

20 C%}EARFH ABP?KE 0,46 BOKF 84 M

30 Al pROt : dQLJl\/WQP !

é8 3 qf ’fM{g y{F Ipy(d -r-p
00 A$3 \grthdPu 137( S o

§8 — 1P é@?—l fry
? z |Q‘g/*vlyf (zy»
%%8 A

jj@@m ”5)@‘3(% oS

160 & 3 ) yi 2105 i 10I '

%8 'A%eiie)J ]; i MC 1dwarv rv
190 A3 17) = (V) 10 fia  Tdw 71
200 Avg”! a dT; T T e My
U WU DOy :
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1095.93671
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